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GENERAL INST RUCTIONS TO THE EXAMINEES -
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Candidate must write first his / her Roll No. on the question paper
compulsorily

D) ad a7 i e

All the questions are compulsory
3) R WA & IR G T TH-Yiew 4 # ford |

Write the answer to each question in the given answer-book onh
4) o gl § TR @O €, 3 At % IW U a @ o

For questions having more than one part, the answers to those parts
are to be written together in continuity.
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f'there is any error / difference / contradiction in Hindi & English versions o

the question paper, the question of Hindi version should be treated vali¢
S B R T R 0l v i srava Revl

Write down the serial number of the question before attempting it.

S T 21 ® 23 A o ot fywea 8

There are internal choices in Question Nos. 21 to 23.

FOHT IR-feva & g8t & St ain k) R @1 @ w5 w6 A, N TW-Yfea =
3o g8t W 3l 3% P e @ e T W T W fr )
Write on both sides of the pages of your answer-book. If any rough work

is to be done, do it on last pages of the answer-hook and cross with slant
lines and write ‘Rough Work’ on them.

U9 SR 21 ST ST U YU W S|

Draw the graph of Question No. 21 on graph paper.
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SECTION - A
(e v sfrergroes wR)

(Objective and Very Short Answer Type Questions)

1) ﬁ“ﬂﬂﬁlwﬁ%mmqﬁf&mmmmg@mi%ﬁl

Answer the following questions and write them in the answer book by selecting the
correct option.

) 196 % st urreust 6wt w A d U
AH) 1 q) 2
q) 4 ?) 6

The sum of the powers of the prime factors of 196 1s
A) 1 B) 2
C) 4 D) 6

i) afe fume whem x? — e+ 4=0 % g GE @, D k T A= AW -
AH) 1 q]) +2

") 13 7)) 14

If roots of the quadratic equation x* — kx+ 4 =0 are equal, then the \
k will be -

A) =l B) 2

C) +3 D) +4
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i) fag (3. )8 y-3100 A 7 vl - 1]
A | a) 2
W) 3 ) 4

The distance of the point (3, 4) from the y - axis will be -

A) | B) 2
C) 3 D) 4

W) 3x+2y=11 8 v wet awn qm d - 1]
A (1,4) T (2,3)
q) (3,5) 7)) (1,3)

The pair satisfying 3x + 2y=111s-

A) (1,4) B) (2,3)
C) (3,9) D) (1,3)

¥)  Foam whe 3327 +10x +3 = 0 w fafafaram g - 1)
H) 8 q) 30
|q) 46 NV o4

Discriminant of quadratic €quation 3,/3,2 , 10x ++/3 = ¢ will be :

A) 8 B) 30
C) 46 D) 64



1)

TR 18, b=“3m%ﬁ%?ﬁj+b WA gom -

w7 a) 1l

W 15 0 19

If18,q, b, -3 are in A.P., then the value of a+ b will be :
A) 7 B) 11

C) 15 D) 19

3sec45° cos45° = e B -

A) 0 @ 1

) 3 3

Value of 3sec45° cos45° will be :

A) 0 B) 1

C) 2 D) 3

1!

n
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Vi) 0 H TR Sfran Rt o 79 B Brown & AR @, e 2 - 1]
¥) Prouwe ") =W
[) A 3) ufify

A chord of a circle, whose length is twice the radius of the circle, is called :

A) Sector B) Diameter
C) Area D) Circumference
) T g B 3.5 5 2, @ ga € it @ - [1]
HAH) 11aHh q) 229
|) 339 3) 449

Radius of a circle is 3.5 cm. Find its circumference.

A) 1lem B) 22cm
C) 33cm D) 44cm
X) O AU gE et 486 = At 3, W ) o g gr - [1)
| ) 6ad T) T7ahm
|) gud 3) 9w
The total surface area of a cube is 486 cm?. Measure of side of the cube will
be -
A) 6cm B) 7cm
C) 8cm D) 9c¢m
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X‘.‘[) R 3, 5, 7,4, 2, 1,4,3 aﬂ'{q.‘q-naw% -

) 1

q) 3
W) 4 2y 7
The mode of the distribution 3, 5, 7,4, 2, 1,4,3 and 4 is -
A) 1 B) 3
C) 4 D) 7 "
xil) U U W HEX W 4 ¥ T2 3 R D W 71a Hie| [
2 0 3
3
',H J—
) y 7 1

. 4 :
In a throw of a die, determine the probability of getting a number more than

A)

1
B)E

1
2

3
C)y -

D) 1
2 Brafifiaa weai 3 fvs el R gid F@ 7o sy § fafe
Fill in the blanks in the following questions and write them in the answerbook.

H 95 aen 152 1 wgww wwade (HCF) 3 2l [1]

Highest Common Factor (HCF) of 95 and 152 is .
) sawRmwlEa, Tyt e Wi S0 a2l [1]

tangent can be drawn from a point on the circle.
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i) cos®45° wUA 2 [}

The value of cos®45° is
W) guamwR @i FIvReEgR @ .
The common point of the circle and its tangent line is called .
v) aRs,7,9,x % aamR area 9 @, at x % am arm 1
If Arithmetic mean of a distribution 5, 7, 9, x is 9, then value of x wi

be

Vi) 3 UTET F OF WY GFA W AR A 7 o3 ) v - M (1

In a single throw of two dice, probability of getting a total of 7 wil
be

3) fa egwETE v

Very short answer type questions.
i) k%ﬁmmmnﬁmgﬂqh—zy::{)mfcr+5y=0asmsa§iﬁ? [1]

For which value of £, linear pair 3x — 2 ¥ =0 and kx + 5y = 0 will have Infinite
Solutions?

#f fﬂmmax2+bx+c=03?%3mﬂﬂﬁﬁm¥ﬁ%ﬁﬂw (1]

Write the Sridharacharya formula to find roots of quadratic equation

ax’+bx+c=0-

_ﬁi) ﬁwﬁm%(A.R)wmua“a"qﬁm&m“d”g},a‘rm“aamawﬁm?lll

What. will be the Fifth term of 4 Arithmetic Progression (A.P.) whose First
term 1s “a” and common difference js “d 79

—09-Mathematics m
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M T s @ whefa S | )

Define similar figures.

2tan30° (11
7 Trantage ™ R

2tan30°

Find th —_— .
¢ value of | an?30°

, 1]
,\fr}’ \/1_.(;0529 F AR § = 60° W[ R [

Find the value of .f]_ .05 g at 8= 60°.
) lotﬁaiﬁhmﬁaﬁmﬁ@“@‘ﬁﬁﬂmmmomﬁﬁﬂmf
| MR R e anite -

From the top of 10 meter high tower, angle of depression at a point on earth 18
30°. What will be the distance of point from the base of tower?

Vi) T JEATER B Y o A FHR BRI ) T A |3 D, DG W I
R0 7 A (1]

Ifratio of length of a vertical rod and length of its shadow is 1 : /3, then find

the angle of elevation of Sun.

Jxy 3%%@%@@3@%%0%5%33%%@?&@@&@@
@it 3 37 wm el (1]

Draw a circle with centre O and radius 3 ¢m and draw two tangents to the

circle from a point P which is 5 ¢cm away from its centre and write the
measurement of them,

Q. wrt



Xx) S orvan vw orevs AB ditmua @ 23 % aigara # frefra ity Eﬁitmil
wr ferfam
Draw a line segment AB of length 5 cm and divide it into theratio 2 : 3, y
the measurement of both the parts.
foret gw @ Fiormvg 30 7@ w1 wgute £, A Beaevs # 9 WaR 9@ S g,
T g ?
If the sector of a circle is a quadrant of that circle, then what will be
measure of the angle formed by the sector on centre?
Xii) et s & $A T 52 ol o g A o A 21T IR E e
H wikwar 7 Hifdr
A card is drawn from a well shuffled deck of 52 cards. Find the probability

it being a ten.

g - |
SECTION - B
. 13
A)  dftda g Egmmﬂam%ml

Write down the decimal expansion of the rational number %

5) =[guE x’ - x- 6 % Y= 7@ Hifw

Find the zeroes of the polynomial x* - x - 6.
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Find the co-ordip
g ates of the mj : : ..
and (5, -3). 'd point of the line segment joining the points (0, 0)

/ﬂ/,ﬁﬁ'ﬂgm%mmﬁ@mmgﬁgqiﬁtmﬁﬁmamﬁﬂ@mﬁgaﬂmm
Rt s g0 g s s 0 2 2]

-
)

[ Construct an equilateral triangle whose measurement of side is 6 ¢cm and then

) . 2
construct another triangle whose sides are 3 times the corresponding sides of the

given equilateral triangle.

10) 4 &eft firea o weh g W Bef @ vt Ve Wi < o @ F wRw A 12]

Draw a pair of tangents to a circle of radius 4 cm, which are parallel to each other
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1) R @ wea gl % deee woaw A, A fig Fifre s 2 B watmm 7 §7

If the area of the two similar triangles are equal, prove that they are congruer

%@ﬁﬁw 7 Aeh 2 7o U W gR0 3 W orARE W 60° 21 39 Froravg @ g
T S

Radius of a circle is 7 cm and the angle subtended at the centre by an arc is
Find the area of this sector.

13) o vig & fomrm 9t s Sarrd 4 it § o s g Rl 3 e (aftfra) 18
6 T §1 3 o= =t = yedra deree Bl

The slant height of a frustum of a cone is 4 cm and the perimeters (circumfere;

of its circular ends are 18 cm and 6 cm. Find the curved surface area of
frustum. https://www.rajasthanboard.com

AT 2, R @ el o 64 360 8, 3 v Gl ) BT T v =@
aftomf 9Te W g gEwe FTa iR

Two cubes each of volume 64 cm? are joined end to end. Find the surface are:
the resulting cuboid.

Hﬁnmﬁmwmmaﬁﬁm
x 11 2 3 4 5 6
Ffla2la| s 4 2 2

Find the mean of the following frequency distribution.

x |12 1 37 4| 5 | 6
S 1214 | 5| 4| 2 | 2
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) R d S Tm R, SFﬁﬁaﬁaﬂtzﬁaﬁ
%lm%ﬁﬁa@ma@mmm

3| 7o T v § Fon Fresren T s | 2]

(i) 2?7 0 it
ik b;xoi(int?glls 8 red marbles, 5 white marbles and 2 green marbles. One marble is
e of the box at random. What is the probability that the marble taken out iS !

1) red? (i) notgreen?
s - ¥
SECTION - C
f)ﬁﬁwmuamwwﬂnmﬁmvﬁﬁﬁﬁw%l 13)

Find the sum of the first 40 Positive Integers divisible by 6.

8) 7a By 1 g T S freds Wi (2, 3), (=1, 0) 7em (2, —4) R (3]
Find the area of triangle whose vertices are (2, 3), (-1, 0) and (2, —4).

%@m%mﬁ%mﬁnmﬁﬁqgﬁlmmmﬁﬁm [3] -
TATh 0-10 | 10-20| 20-30 30-40 | 40-50
Bl & A 4. 28 42 20 6

The marks of students of a class are given in following frequency distribution.

Find their median.

Marks Obtained | 0-10 10-20 | 20-30 | 30-40 | 40-50

No. of Students 4 28 42 20 6

—
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d TQ @it=h
20) ¥z O oot 5w W g fag T @ § vl @ TP awn TQ r,g%,&‘“%
£ZPTQ=2,0PQ %

Two tangents TP and TQ are drawn to a circle with centre

O ﬁ'?m 'E"l ['.}f-
point T. Prove that ZPTQ=2£0PQ.
o -3
SECTION - D
p35) ﬁn’fﬁ’ga;mhaamgmﬁ Imereita fafe grn ae v
X+ y=14
X—-y=4
Solve the following pair of linear equations graphically :
X+ y=14
X—-y=4
F=Et/OR
TS H8T % loﬁmﬁiﬁ%nﬁvﬁﬁwﬁuﬁﬁﬁmﬁmﬁmlu&mﬁﬁman
T R 2 i @ gaﬁhﬁmiﬂmﬁmqa‘mﬁﬁqm

\/m =CO0seCA~cotA
l+cosA

Prove that -

T
l+cosA

HREar/OR {
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(sin A+ cosecA)’ 2 _ 2
+(cosA+secA)’ =7+tan” A+cot’ A

Prove that :

(sin A+ co;ecA)z +(cosA+ secA)z =7 +tan’A+cot’ A

v AR S2A W g A S 4]
| = 10-25 | 25-40 | 40-55|55-70 | 70-85 | 85-100
AR 6 20 44 | 26 | 3 -
Find the mode of the following frequency distribution :
Class 1025 | 25-40 | 40-55[55-70 | 70-85 | 85-100
Frequency | 6 20 4 | 26 3 1
areran/OR
17 AR e 1 q1Ed [ HIg : 4]
ES 0-20 | 20-40 | 40-60 | 60-80 |80-100
TR 6 | 10 | 13 | 7 4

nd the mean of the following frequency distribution :
Class 0-20 | 20-40 | 40-60 | 60-80 |80-100
B3| 7 | 4

Frequency | 6 10

> >



